LO: Arithmetic practise

1.

2.

3854 - = 3814

821 + = 1000

. 4806 + 474 =

943 rounded to nearest
10 =

2630 - 847 =

. 3639 rounded to nearest

100 =
6 x9-=

81+9-=

3km = m

10. 3006 - 2999 =
11. 62 x 10 =
12. 5400 + 10 =

13. A square has a perimeter of 28cm.
What is the length of each side?

14. What is the perimeter of a rectangle
with a length of 9cm and a height of
7cm?

15. _x6=72




LO: Arithmetic practise

1.

2.

3854 - 40 = 3814

821 + 179 = 1000

. 4806 + 474 = 5280

943 rounded to nearest
10 = 940

2630 - 847 =1785

. 3639 rounded to nearest

100 = 3600
6x9=54

81+9:=9

3km = 3000 m

10. 3007 - 2999 =8
11. 62 x 100 = 6200
12. 5400 + 10 = 540

13. A square has a perimeter of 28cm.
What is the length of each side? 7cm

14. What is the perimeter of a rectangle
with a length of 9cm and a height of
/cm? 32cm

15.12x6=72




